CET-BED EXAMINATION-2021

QUESTION BOOKLET SERIES

Se-gRaHT B

A

QUESTION BOOKLET NO.

Te-—-gRaeHT AT
¢ 136471

multiple choice type questions.
e e LY 1

| Roll Number (in figures) -l | N ’
Bk Ljo]4]r{7]0fp |2 ¢+]]
Time : 2 Hours , MCQ:120
INSTRUCTIONS /31 Q9T

Each question will be of one mark. Yld Y% U 3 bl B |

Use only blue or black ballpoint pen. Bac Al /BTl dict @IS U Pl AT e |

Whitener is not allowed. @Ige R B T aford & |

Write your Roll Number in the space T U9 & HW d @IH R qu JHHE

provided on the top of this page. forfRgy |

This Question Booklet contains 120 T Y79 # 120 9EfAFHIg 99 fay Y €|

Al the commencement of examunation,
you. In the first 5 minutes-you are
requested to open the booklet and
essentially examine the following:

wh

‘Ei“\mﬁlusa.sﬁaa

WS I B8R W 9 RTd Iud © o

s e e
T SA%l Melad @rg @ o [eg e

ol Sirg s 3@ T §

(a)

To have access to the Question
Booklet tear off the paper seal on
the edge of its cover page. Do not
accept an open booklet.

(a) T-YRAS Tier & [0 THD DA ol

(b)

Verify the number of pages and
number of questions in the
booklet. In case of faulty booklets,
due to pages/questions missing or
duplicate or not in serial order or
any other discrepancy, get it
replaced immediately by a correct
question  booklet from the
invigilator within the period of
five minutes. Afterwards, neither
the question booklet will be
replaced nor any extra time be
given.

(b) R Yo

After this verification is over the
test booklet number should be
entered on the OMR answer sheet.

(c) Wﬁa%mm—m aﬁmm

SEAL




SECTION-I

GENERAL ENGLISH COMPREHENSION

Direction (Question No.1I to 5) : Read the following passage carefully and choose the best answer out of
the four choices given after each question that follows :

Self-directed learning, in its broadest meaning, describe a process in which individuals take the initiative
with or without the help of others, in diagnosing their learning needs, formulation of learning goals,
identifying resources for learning, choosing and implementing learning strategies and evalugting learning
outcomes. Thus, it is important to attain new knowledge easily and skilfully for the rest of his or her life.
What is the need for self-directed learning ? One reason is that there is convincing evidence that people,
who take the initiative in learning, learn more things and learn better than people waiting to be taught. The
second reason is that self-directed learning is more in tune with our natural processes of psychological
development; an essential aspect of maturing is developing the ability to take increasing responsibility of
our own lives to become increasingly self-directed. The third reason is that many of the new development
in education put a heavy responsibility on the learners to take a good deal of initiative in their own learning.
To meet the challenges in today'’s instructive environment, self-directed learning is most essential.”

1. [n self-directed learning, an individual :
(A)»  takes initiative with or without the help of others
(B) is passive and waits for directions

(©) is helpless and dependent
(D) takes initiative, without an objective

2 There is need for self-directed learning because :
(A) it is less challenging
(B)e it heips peopie o learn more things and learn better

(©) it 1s more cost-effective method
(D) it is a modern method of learning

@ Which word best describes self-directed learning ?
(A) Active learning
(B) Passive learning
(©) Compulsory learning
(D) Repulsive learning

4. The modern environment according to the author is :
(A) restrictive
(B)» instructive
(C) less developed
(D) impracticable

S The synonym of the word ‘diagnosing’ is :
(A) searching T
(B)*  examining
(C) - identifying
(D) complying

Direction (Question No.6 to 9) : Out of four alternatives, choose the one which can be substituted for the
given words/sentences :

6. A strong dislike :
(A) Reciprocity
(B) Entreaty
(C)»  Animosity
(D) Malice
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A place where birds are kept :

(A)e  Aviary
(B) House
©) Aquarium
(D)  Apiary

Loss of memory :
(A)e  Ambrosia
(B) Amnesia
(© Insomnia
(D)  Forgetting

A study of sounds :
(A) Semantics
(B) Stylistics
(C)  Linguistics
(D)e  Phonetics

Direction (Question No.10 to 12) : Select the most suitable alternative to fill in the blank/blanks in the
sentence to make it meaningful :

10.

L

In order to maintain good health one should eat a diet,
(A) rich

(B) spice

(C)e  balanced

(D) salty

The Police the mob.

(A)s  scattered
(B) disbanded

() drove

(D) dispersed

The shepherd was looking after the of sheep.
(A) crew

(B)e gang

(&) fleet

(D) flock

Direction (Question No.13 to 15) : Fill up the blanks with suitable prepositions from the alternatives given
under each sentence :

13.  The visit of the P.M. has been advanced two days.
(A)e for
(B) by
(©) to
(D) None of the above
14, Normally he stays until 11 p.m. these days.
(A)e up
(B) out
(C) on
(D) None of the above
15.  The history of Hindu religion dates ancient times.
(A)e  from
(B) since
(©) for
(D) None of the above .
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SECTION-TI

(@ve-1)
GENERAL HINDI

(e fe=<d)

ﬁiﬂ(ﬂﬂ#o—w%zo):ﬁﬁﬂmnﬂaﬁwﬁﬁq@ﬁﬁmﬁw@iﬁévﬁwgﬁm

=7 A § 99 & 79 7P 78 & g7 @ o w7 7 ) §ere e & o7 @fvar 3t Tt
a7 & B 39 g § ST e 78 fearr ave O Y ol Y [T Aa AT @] BedrT

gl

Ry = 7 9ev9 B9 £ gk W8T & @ wier wrfl 7 v &

Wﬁﬁﬁﬁ?@ﬁ#wwﬁmﬁaﬁvmma%m#mﬁm
it o7 7 & wa g e e 3 o o T8 1 4 @i o Sl @l 77 2 A A @t
F Iurel 78l bl

16. foo®! qon Wad 7@l sl &
(A)  THE B
(B)e 4 @
(C)  HIH B
D) UE
17. g9 A e & R
(A)  uAe e
(B) e Ui:r
(O)e Fid Tl Pl A &
@) S FE
18. Q@ yforer Wl S @, el
(A)e  ©F TCRT
(B) AN Gedror fbar
(C) T39S U W
(D) . 39 Y& Sfid
19.  gu 91 @l @ T R
(A) 9T fear
@®) fEm o e
(C)e HI¥G WHIA B Hellg Bl
(D) IS e B TG DI
20. WG GEOl feqa! ST T8 Hedl § 7
A '
B) =
©
D) @
21, 49 ¥ qoue I DI © ?
(A) HUE
B) foas
(Ce ™
D) R T
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22, §TM v e WIE | wga e g 2
(A) TR
(B)s Gel
©)
o) B |
23. A= % 91y @1 wuigerEl v @
(A)e TR
(B) A
(C) 3R
(D) d&d
24. 3G B AR AT F A B
(A)» WRT BT
B)  cnl g
(C) U™l Al
(D) 99 < B
25. ‘gfe quf I A1 Bad I Bl || SR ©
(A)e 390l BT BT
(B) WY b &
(C) Y 5] e @
(D) IEA T B
26. ‘TeH oI H MR I8 &/ S &
(A)e STHY TN Bl B
(B) Yl KA Pl B
() |y IadE Fid @
(D) SUd® ¥ | B8 8
27. o AR E:
(A) g —
(B)» T -
(C) Q'Fé' —
(D) &I
28. TUER WS H UUY B
(A ¥4
(B) -
©)
Mo J
29. 'gG @1 el AT 7
(A)  TE+ T
(B)s TR + FH
© T + e
@O T+ T
30. ‘Pife @ e B
(A I
(B)
©)
(D)  SPId
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SECTION-III

(@ve-m)

LOGICAL AND ANALYTICAL REASONING

(arfes vd favemyomes fiem)

Directions (Question Nos.31 to 35)

All the six members of a family A, B, C, D, E and

F are travelling together. B is the son of C but C is
not the mother of B. A and C are a married couple.
E is the brother of C. D is the daughter of A. F is
the brother of B.

On the basis of above information answer the
following questions :

31. How many male members are there in the
family ?
(A) 1
(B) 3
(©) 2
(D) -
32, 'Who is the mother of B ?
(A) D
(B) F
(O E
(D) A
33. How many children does A have ?
(A) One
(B) Two
(©) Three
(D) Four
34.  Who is the wife of E ?
A - A
(B) F
(©) B

(D) None of the above

35.  Which of the following is a pair of females
r)

(A) AE
(B) BD
€y .. D
(D)  AD

Directions (Question Nos.36 to 40)

In each of the following questions four possible

answer are given. Find out the most suitable

answer.

36.  Children should avoid smoking because :
(A) it is a bad habit

e (797 Ho—31 W 35)

IRaR & T B: G A, B, C, D, E 3R F 05 &1y
TN W B | G B U CH YF § olfb] Gew
C TE B! AT 2l 8| A AR ¢ fanfea e &)
e EWE & WeW CH| DYH & A | wew
FHE & 9ed B & |

SYYh QI B AR R Wforlad yedl & I
T
31 ORAR ¥ e yoy T € ?
(A) 1
B 3
© 2
(D) 4
32. B @ WA B R ?
(A) D
B) F
(C©) E
(D)» A
33. AdfegisRE?
A T
®
©- T
D) @R
3. E 9 U BT B ?
A A
B) F
© B
(D) SWH # H B T
35.  fAwfoRed & @i Afeer o gm & ?
(A) AE
() BD
(C) DF
(D)* AD
e (e Wo—36 ¥ 40)
fretferiaa ude ot @ forg R M0 IR waifdd
SR A A ST ST G |

36, g B gHUE § g9 IR F3if -
(A)  ¥E I Imed

(B) elders advise them not to do so ﬂ'\_{ff :
(C) it is an unnecessary expenditure (B) W el HA B e e o &
(D)  itis injurious for health (C) B VP JTdWS @9 &
(Dye TE WA & fow wifera &
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37.

38.

39.

40.

Ice floats on water because :

(A)
(B)
©

(D)

it is transparent

it is spongy

its weight is less than the weight of
water of equal volume

it is a substance which melts
quickly

Peoples use rubber soles in their shoes,
because :

(A)
(B)
©
(D)

They are fashionable

Rubber is more porous than leather
They produce less sound

They are durable

A deaf is ‘always dumb’, because :

(A)
(B)
©)
(D)

he is born so

ear is internally connected to throat
deaf and dumb are synonyms
speaking is learnt by hearing from
others

Platinum is more costly than silver because

itis:
(A)
(B)
©
(D)

heavier
whiter
rarely found
harder

Directions (Question Nos.41 to 45)°

In each of the following questions an incomplete
series of numbers with one blank is given. Identify
the missing number from the given alternatives.

37. 9% UMl W ORaT & F®ifd
(A)  Tg UReHl B
(B)  IE WMl &
(C)e UG 9R B9 BT & fved GHN
I B U B UR |
(D) U8 Y ueref § O s figerr §
i
(A) T oW B §
(B) g, TS W IF ey v @
(C)»  d PH AT BXA &
D) dfFe e g P
39. a8 BN M Ak §, w@ife A
(A) 98 U & o forrm @
(B)e %ﬁmmﬁmmﬁwéwaﬁm
(C) T R T WA &
(D) @& & ¥ AR Ao Al &
40. wifem 98 | FAE 3ET B Aife
(A) TRE
(B) WHIE
(C)e ¥ U WM ATl
(D) FERE
fre (e wo—41 ¥ 45)

fPr=fafen ws v 3 1 IO 9 B gEa
& 74 21 Rew d=m 9l wwuE |

41. 3.5T.59; 4. I ST9
(A) ol (A) 0l
(B)» 11 (B)s 11
(C) 13 (O 13

~\ (D) 10 (D) 10

@ 3,6,8,16,19,, 42. 3,6,8,16,19,
(A) 21 (A) 21
(B) 38+ (B) 38
(©) 35 (C) 35
(D) 36 (D) 36

43, 1,5,13,29,61, 43. 1,5, 13,29,61,
(A) 90 (A) 90
(B) 103 (B) 103
(©) 109 (C) 109
(D)e 125 (D)e 125

44. 3,11, 23, 39, 59, 44, 3,11,23,; 39,59,
(A) 63 (A) 63
(B) 73 (B) 73
(C)* 83 (C)» 83
(D) 93 (D) 93

[Series-A] [CET-BED : 2021] [Page- 6]



Gs/. 4,16, 36, 64, _ 45,
" (A) 300

4, 16, 36, 64,

(A) 300
(B) 200 (B) 200
(@) 100 (©) 100
(D) 150 (D) 150
Directions (Question Nos.46 to 50 5w (499 Ho—46 & 50)
In each question two statements (I) and (I) are  H5 Ry T 099 H 37 B ) 3R (In) for o €

followed by four conclusions. You have to take
these two statements to be true even if they seem to
be at variance from common known facts and then
decide which of the conclusions logically follows

ol TR fAwedl w wnfia &1 Ut @ 9 9
g0 9% 98 WM @ A R wa gt flg
aifoy & A v et § -1 fred Ry v

from the given statements. FYF B IR W dhaTd &9 I HTEROT T gl
46.  Statements : 46.  HYA :
(1) All boys are beautiful. I 4 ded
(1I) All beautiful are lovely. (I; T ' EE‘%E%%I
Conclusions : (ID m !
(A)  All boys are lovely e -
(B) Some boys are lovely (A)e BaEi| m IR &
(C) Some lovely are boys (B) TP TSP YN &
(D) All beautiful are not lovely (©) 2};85 R T §
0 S
(D) T gERd @R e E
47.  Statements : 47. YA
(I Manish is a player. M 5 R ¥
) All the players are tall. : = B = 3
Canciuions s (1) .Fﬁmﬁgl
(A) Manish 1s tall o
(B) All tall men are players (A)e Y GHT B
(C)  Tall men are not players (B) I I Ied Raardr &
(D) Manish is not tall ©) TR aTed Ry Fﬁ’[ 3
(D) HANY o A @
48.  Statements : 48.  HYA :
(I)  Some people are wise. I W
(I1) Some people are rich. M i3 g iR ¥ &l
Conclusions : (IT) go |
(A)  All the people are not wise but rich Frepy :
(B) Some wise people are rich (A) Wj\’ AT E@‘ﬂ’i el off 3R &
(C)  Some people are neither wise nor (B)e Wmfﬁ #
rich i W _
(D) None of these ) Eg? @ 7 EUR AR
(D) & 9 3 &
49.  Statements : 49.  ®Yq
) Some cats are good. (I) o 55 Rfcet s £
(Im) Some cats are black. D an u 2
Conclusions : (D) % ﬁ—@l gl
(A)  All black are good frepy -
(B) Some good are black (A) 4 Hrell et & -
(C) Some black are good (B) O I Bel &
(D) Some good are cats (©) FB Fred e %
(D)e B I fAfeerdf &
[Series-A] [CET-BED : 2021] [Page- 7]
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50. Statements : ) 50.  PYH
) All the bogks are notebook. M Y g?ﬂ?f\) CRNIES] Hﬁ\"‘lﬁ g
(1) Some copies are novel. o
st ) oY ylodt Tad €]
Conclusions : 2
(A) All the books are novel ﬁ'ﬁﬂoﬁ : .
B) Some books are novel (A) Gl W Jidat §
(g) I?Iome nf?vlfl are books (B) B S’:ﬁﬂ} :ﬁ—q—@[ g
(D) one of these (©) @WW%
D) T ¥ IR T
Directions (Question Nos.51 to 55) fAder (e Ho-51 & 55)
In each of the following questions four possible f=faRed yde v & IR SR o) fov m
answers are given. Find out the most suitable :
—— £ | s SUgd IR Ell gﬁn
| 51. People wear goggles because : 51, QT 7oy YR § @it
| (A) T.hey. protect their eyes from (A) A9 B gy Q sitEl @ T
| dizzling light E
(B) They conceal their eyes % -
(C) By it they look handsome (B) @ ¥ i B B §
i (D) They see better by it (C)e 39D ERT X ¢ET I8 &
< (D) 39D EN 95k <
<
U :
7 52.  Anil is not interested in Sunil, because: 52. e, g:ﬁa | ﬁaa‘af[ T8I od, qife
Eoh Dy kil
- g (B)e el 31e8T GER 78l ¥l &
(®) Anil is black . i .
(D)  Anil is a short man (€ e Prew &
@) 4 e g
53.  Police man wears a uniform because : 53. UfcE 9 99e e E, R|ife
(A) it is provided by government free of (A) 9! Gﬂ"ﬁ TER GRT 3
cost 2 B) IR AT
(B) it scares the criminals e 3 3
(C)  he can be easily recognised (©)e 3%\"‘5”” IRIREEIRIAS | Nl
(D) its keeps him smart (D) Y 98 X fd T w®
54. The right order of the structure of mind 54. WBHUS 3 FTER T PG P FE By
according to Freud is : 2
(A) Super Ego-ID-Ego (A) &ﬁm_m_m
(B) ID-Ego-Super Ego g
(C) Ego-Super Ego-ID (B)* SRR
(D)  ID-Super Ego-Ego (® m—aﬁm~m
D) TR
55. Languageis: 55. WNT&:
(A) Speech (A) {9
(B) Posture AT
(© Gesture (B)
(D) Emotion ©) arq
(D) W@l
[Series-A] [CET-BED : 2021] [Page- 8]
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@vs-1v)
(AT SR
56.  Which of the following is an ore of iron? 56. fr=fofad & a9 & die oo & ?
(A) Hematite (A)e %'HTE'IBE
(B) Alluminium El?ﬂﬁﬁ'&'q
' ‘ (C) Bauxite 52; 2
(D) Cinnabar SEREE
] D) R
57. Puregoldis: 57. Y& R I
(A) 14 Karat (A) 14 B
(B) 24 Karat ‘
(C) 18 Karat (B)r 24 sl
(D) 22 Karat © 18 XId
(D) 22 &
58.  Which of the following is a bacterial 58. fy=foReq § & Gﬂ?mg a7 E?
disease? ' (A)* FCReEd
(A) Measles
(B) Leprosy (5) Zﬁlﬁ "
(©) Scurvy (© hdl 4
(D)  Diabetes (D)  WYWE 4
59. Scurvy disease is caused by the deficiency  59. P P | W4 THS I BT  ?
?ﬁ) Vitamin C ' (a) e
i
(B)  Vitamin D B) [E&FD 5
(C)  Vitamin A ©  faerfd A
(D) Vitamin K (D) faer®s K 1
60. Most hazardous metal pollutant of  60. dfeHEge Fom 9§ Maen a0 sl
automobile exhaust is : HICEINGT YeNE T g
(A) Mercury (A) H?H?;—%
(B) Lead
(C)  Tin (B) T .
(D) Copper (@) fes
(D) DR
61.  Benzene is : 6l. I
(A) Gaseous pollutant % fiEsinl
. (B)  Liquid pollutant ' (B) ' : e
' (©) Solid pollutant (B) gTep
| (D)  All of the above (€) oM uga
(D)  Iw wh
62. Which one of the following is not a search ~ 62. fr=ifoiRag § PF—wr wd goi el 87
engine ? A T
(A) Google (B) S
(B)  Chrome (e
w (©) Yahoo (©) 2TIE
i (D) Bing (D) &

[Series-A] [CET-BED : 2021] [Page- 9]



63.  National Press Day is on : 63. IS I feaq Fg & ?
(A) November 1 (A) FIRT 1
(B) October 21* B
(C) November 16% B) S 21
(D)  January 7% (€©)  TIWR 16
D)s AR 7
64. Wht}c: among the following is known as  64. 9 § ¥ & wrRa § TRRAINAT & R
“father of ecology’ in India ? FEa ¥
(A) P. Maheshwari 5 Mo TRvEs
(B) S.K. Kashyap (A)
(C)  B.P.Pal (B)  TH0F0 ¥y
(D)  Ramdeo Mishra (C)ye  dlodi0 T
(D) T fRem
65.  The most controversial amendment passed  65. TS & §9 TR I RafRy I
during the emergency was : of :
( A) 43rd 2 .
B , 41 A) a3
(C) 424 (B) 41a
(D) 44" (C)e 42ai
(D) 444
66. In which of the following states was the  66. fy=iiaias 3 Tawus Tad 9 @) WG
, f:l;chay;tl Ra[)hﬁrst introduced ? f%,—;‘: g ;:1‘- I EDA] 7)745' gj‘T 3
- ajasthan
3 (B)  Gujarat (Ap UREH
o (C)  Uttar Pradesh (B) TeRI@
(D)  Bihar (€ TR WY
(D) fER
| 67. In which year Saraswati Academy was 67. TXHT § WAl ADHICH BT AT $a §§
established in Darbhanga ? off ?
(A) OlﬂJanuary, 1901 (A) 01 FFES 1901
(B) 01* January, 1909
(C)  01* January, 1903 (B) 1 3 1909
(D)  01* January, 1912 (© o1 Sa3 1903
(D) 01 Fa9 1912
' 68. The Ministry of Human Resoumrces  68. H9d EEE OeE 93 9™ T o ¢
| Development was created in the year (A) 26 Ta=w 1985
| (A) 26 September, 1985 ’
| (B) 28 December, 1953 B 28 SR, 1953
(C) 18 December, 1953 (€ 18 RRA=R, 1953
| (D) 02 September, 1985 (D) 02 foawR, 1985
69.  The tomb of the ruler of Delhi issituated on=: 69, 2 3 9% 3R U W & ABRT Reg
(A) Vaishali 2.
(B) Darbhanga A A o
(@) Sasaram (A) S
(D) Gaya (B) S
(C) KRN
(D)e L1
70.  Lalit Kala Akademy was established on 70. dfd T IFSH B AT g o
Eg)) ot (A) 1954 ®
© 1965 B)e 1972 #
(D) 1953 (€ 1965 %
(D) 1953 ¥
[Series-A] [CET-BED : 2021] [Page- 10]



71.  India’s first air taxi service was launched in ~ 71. 9Rd &I Yol VIR <Ryl 9aT g g §
which State ? JRET Bl Tl'éf ?
(A) Bengal ;
(B)  Haryana e A
(C)  Uttar Pradesh B)s  BRam
(D)  Andhra Pradesh (C) TR WSy
(D) I TR
72.  Who is the first Chief Defence Staff of  72. WRd &I Ugall A% 3G B~ €IH P ?
India? (A)® i a’cﬁ' O]
(A)  Manoj Mukund Naravane ®) @Y ?ﬁgﬂ"\’
(B) Rakesh Kumar @
(C) Karambir Singh © FER e
(D) General Bipin Rawat (D) SRd A9 aa
73.  Which is the largest river basin in India? 73.  ¥Rd H gy CE| 41 SRy B |l ﬁ?
(A) Ganga Basin (A) T R
(B) Cango Basin (B)« Fh IR
(C) Bay of Bengal .
(D)  None of the above (€ 9 @ Gl
' (D) T W B T
74.  Which State is the largest producer of ricein ~ 74.  9RRd ¥ ATGc] BT TIY T IUIGP o GBI
India ? g7
(A) West Bengal e g
(B) Uttar Pradesh (A)e N
(C)  Jharkhand (B) W W
(D) Bihar (C) ANETS
\D} :EF
75.  Is the unit of frequency : 75.  SERT B 391 B
(A) Hz (A)s Hz
(B)  Kilo Hz (B)  KiloHz
(C)  Hz/Sec (C)  Hz/Sec
(D) KgHz/Sec (D)  KgHz/Sec
76.  Horse power is equal : 76. g YR TR ?
(A) 776 watts
(B) 746 watts (A) TG S
(©) 11,000 volts (B)~ VA8-AICH
(D) None of the above © 11:090 m
(D) T 9 B T
77. Who has recently been appointed as the 77. TS & H 59 yRa & kel B0 ﬁ'g?}ﬁ
Chief Justice of India ? frar mm & ?
(A) Rajesh Bindal
(B)  Sharad A. Bobde (A) TR fdT
(C)  RamanaN.V. (B)* ¥RT 1O TS
(D)  H.J. Kania (C)  YHUIT UH0dI0
(D)  TAON0 BT
78.  Which State has won the e-Panchayat Award ~ 78.  @cRi—1 ¥ {9 Iw9 7 3-9ard REHR
2021 in category-I ? e ?
(A) Andhra Pradesh R
(B) Arunachal Pradesh (A) S e
(C) Himachal Pradesh (B) SAMIEE m
(D)  Uttar Pradesh (C)e fEHMS W
(D) TR WT
[Series-A] [CET-BED : 2021] [Page- 11]



79.

80.

81.

82.

83.

84.

85.

86.

Where is the Bank Note Press located ?

(A) Nashik
(B) Mumbai
(© Dewas

(D) None of the above

Which great man’s birth anniversary
commemorate as National Education Day ?
(A) Mahatma Gandhi

(B) Rabindra Nath Tagore

© A.P.J. Abdul Kalam

(D) Maulana Abul Kalam Azad

Tehri Dam is the highest dam in India and is
located on which river ?

(A) Kamala river

(B) Mahananda river

(©) Bhagirathi river

(D) Phalgu river

Who was the leader of Chipko movement ?
(A) Medha Patekar

(B) Swami Nathan

(&) Sunderlal Bahuguna

(D) None of the above

What is PHP in programming ?

(A) General purpose programming
language 3

(B) Central processing unit

(©) Central processing union

(D) None of the these

When is computer literacy day celebrated ?
(A) 05 December

(B) 14 December

(O 22 December

(D) 02 December

Who is the first female poetess won the
Sahitya Akademi Award-2020 in Hind
Poetry ?

(A) Anita Verma

(B) Anjana Dev

(©) Anamika

(D) Asima Bhatt

The Constitution of India is :

(A) Very rigid

(B) Very flexible

© A combination of rigidity and
flexibility

(D) Neither rigid nor flexible

79.

80.

81.

82.

83.

3

85.

86.

3% e 9 Per wfig € ?
(A)  AN®
(B) I=E

(C)e TN

(D)  SUYH H 9 I TE

PIF—X HeM T8 B o foad I R
fSa & wU H 7T I § 7

(A)  HETH T

(B) &= T IR

(C)  Todlosio I[A AN

(D) S 3gd FAW IR

fegd 979 wra @1 w99 S97 3 § IR Y
TR e ?

(A)  THAT 9

(B) WEMel Tl

©  FrReh 76

D) BT

(A) HET U

B) WH T=FE

© o g

(D) & A PlE T
arfaT ® dovaodio & ?

(A)s ST SeEd TITET TS

(B)  Ho UNRT e

(€  Wzd SHRET gFhEA

@) FHEAE T

SRR T (9H P FAT S 87
(A) 05 Re=R

B) 14 =R

© 22 ke

D) 02 = -

=1 ®faa @ fov q¥-2020 @1 QR
IHIEH RSR[50 yow Afger it 3
rar ?

(A) T gbr

(B) 3G <d

(C) @

(D) M

(A) 3R% FOR

(B) % wden

(C)y  HORAI AR TG BT GYaIg
(D) ¥ &Een 7 & deR
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87.

‘Durand Cup’ is associated with the game of: 87, ‘g & fhw wal ¥ wafdrg @ -
(A)  Football (A)  Gedd
EB) (P;Olok (B) arar
C) ricket
C e
(D) Hockey ED; i
88.  Niti Ayog formed in: 88. Y AT BT o gl -
(A 0L dannary 201 5 (A) A 01, 2015
(B) 01 February 2015 (B) W 01, 2015
(©) 01 March 2015 (©) T 01, 2015
(D) 13 June 2015 D) W 13, 2015
~ 89. PNR-381 is a improved variety of : 89.  Gl0UA03R0—381 U S e 2
(A)  Rice (A)  TEd
(C) Pulse
(D) None of these E[C); ;T(; &
90.  Which is the best breed of buffalow ? 90. ¥ P WY G T BT & ?
(A) Murra (A) ’j?f
(©) Totapuri TSI eHatrat
(D) None of these Eg)) =7 W B A
91.  Who won the Kabaddi World Cup (Circle ~ 91. % wassl des &9 (afdd wige) 2000 71
Style) 2020 ? faorar o1 & ?
(A) Iran (A) ?’W
‘(g)’ — (B) =@
(D)  Bangladesh 8 q','a“f i
92.  Which organisation won Nobel Peace Prize-  92.  Hfder fdvg wnfq araré—2020 fbg dvenm o g
2020 ? gar ?
(A)  WHO (A)  S<YOTTOHI0
(B) UNCEF (B) .‘,{ﬁ_\qq;
5 WEFP
ED)) ILO (©)  s=govwmodio
(D)  3MFoVE0T0
93. Who is the Education Minister of Bihar at ~ 93. fdgr & Ry 557 @ & (actm ) ?
P aeneid (A) W AR
(A) Ashok Chaudhry T T
(B) Krishna Nandan Prasad Verma (B) il i
(C)  Prashant Kumar Sahi (€) R GAR Wel
(D) Vijay Kumar Chaudhary (D) foo AR FRR
94.  Who is ‘Sahityakar’ of Bihar ? 94. fI8R & wifecueR & ?
(A) Ramdhari Singh ‘Dinkar’ (A) IR g feaay
(B) Gopal Singh ‘Nepali’ (B) urel Rig Yoy
©) Pandit Ram Avtar Sharma .
(D)  All of above Eg)) q%? “:g‘a“ X I
95.  Letter, email, telephone are examples of : 99 éE? s‘ﬁa o EEHEURE
(A) Message (A) A
(B) Channel 3
(C) Feedback (B) W\
(D) Encoding (@) ﬁ!sa\ 9
(D)  FEBIET
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96.

97

98.

99.

100.

101.

SECTION-V

@s-v)

TEACHING-LEARNING ENVIRONMENT IN SCHOOLS
(Rrerrerat % R va 51 @1 ararR)

Which philosophy advocates role of a
teacher as strict disciplinarian ? '
(A) Idealism

(B) Naturalism

© Realism

(D) Existentialism

Which of the following ‘Pillars of education’

has its support from sociology ?

(A) Learning to know

(B)  Learning to be

(©) Learning to do

(D) Learning to live peacefully with
others

Right to Education came into force on :
(A) 1 April 2009
(B) 1 April 2010
©) 1 April 2011
(D) 1 April 2012

Effectiveness of teaching depends-on :
(A) Qualification of teacher

(B) Personality of teacher

(O© Handwriting of teacher

(D) Subject understanding of teacher

A mathematics teacher discussed some
problems in the classroom and thea asked
the students to work out some problems
given in the book. Students are practising the
law of :

(A) Contiguity

(B) Reinforcement

© Readiness

(D) Exercise

In the history of education in Indiza, arrange
in temporal sequence the predominant
influence of the following

(a) democracy

(b) religion

(c) politics

(d) modernisation

(A) a,b,c,d
(B) b,c,a,d
(©) c,b,d, a
(D) d,a,b,c

96.

a7

98.

99.

100.

101.

ﬁm—wm%ﬁﬁﬁm’rwﬁ
e &1 (6 FoHeg e & Wy §
FHefe P & ?

(A)  Ie¥ER

(B) uofaarg

(©  IurlrR

(D) IRGEaR”
Feiftmoson g o & o9 T ¥
(A) 9 % fog S

B) @=H 3 fou drE

(©) & o fav S

(D) T 3 W AfEs w1 B o
e

R & aReR SRR R a0

(A) 1 30T 2000

(B) 1%2010 oy PR S -

(C) 1 34 2011

(D) 1 30T 2012

Rrgror—yadiiear foik &=t 2 -

A) e o g

(B) e & afka

() fa=s 9 fagme

D) =% 3 v & w3 51 2

TG $1 TS A0S &1 A §B W Nl &
T 366 41% 9E &l §)d | o T8 et
@ & 3¢ & v FEa 2| 3 Rufy § v
et e:

(A) Fca o fom

(B)  Twed @ faw

(C)  Towar & fam

(D) 3w 7 49y

GG O 0 W e e

;mra‘f B Fifo® B 1 srct@iajﬁ
(a) WA
®) &~
() WeHifa v~
(d) IR \/

(A) ab,cd
(B) b,c,a,d
(C)» ¢,b,da
(D) d,a,b,c
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102. Knowledge of individual difference in the  102. ®&7 ¥ @fts ¥ &1 I IS & Fee
class will help a teacher to : WA
(A) maintain discipline in the class :
(B) evaluate the homework of students (4) A . 3 ok "\’@"ET ® IS
(©) plan the teaching learning activities (B) faenforat o llgaild SRIE & B
(D) make necessary arrangements in the forg
class (C)  JTTF-3RAGH B BT AT g7
& fog
(D) P& ¥ AaAH AGRAT IR & o1y
103. Modernisation is the process of : 103.  Igfdraeor ufhar §
(A) Capitalisation (A) W;b—@-[
(B) Change and adaptation R
(C) Sanskritization (B) j ) AR
(D)  Stratification (©)  ApfrH
(D) TR
104. The mid-day meal programme for primary  104. fe—3 #ia adw wafe Rl & forg
school was initiated with a view to : 9 R O yr™ frar T
(A) increase enrolment TR FE
(B) involve community 4 El?é'l"%l $§Q
(C)  engage teachers (B) < ﬁ A B F forg
(D) increase the employment ©) YD DT AT B B forg
(D) VIR 9gM B forg
105. Which one of the following teachers would 105. 99 3 29-9 e & o sais U<
you like the most : S ?
(A) Punctual
0; : (A) BIEE
_(B). . having research aptitude
e (C) loving and having high idealistic (B) 9T SIS v Gl
philosophy (©) WX 3R S= Aevivs goF
(D) who often amuses his students (D) I R g faemeft 3 afEfeg
N
106. SCERT was established in : 106.  THO0Z03MR0EI0 wfig gaT o7
(A) 1988 (A) 1988
(B) 1999 (B) 1999
(©) 2000 (©) 2000
(D) 2001 (D) 2001
107.  Project method is propagated by : 107. o fafyy ufewfeq & &
(A) William James A faforay
(B) Kilpatrick (A) o
(©) John Dewey (B) | Ii el ”i P
(D) John lock (©) ST <@
(D) SISRNIEY
108.  Which one of the following is a good method 108, =7 & @—ar T R T S8R T &?
of teaching ?
A T {]laé@
(A) Lecture and dictation (A) A S%T .
(B) Seminar and project B)
(C) Seminar and dictation (©) AR &R ’gﬁ?‘@
a (D)  Dictation and assignments (D)  HfoeiE 3R yeaen
[Series-A] [CET-BED : 2021) [Page- 15]
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109.

110.

111.

112.

113.

114.

115,

116.

Which of the following does not belong to a
projected aid ? 2

(A) Overhead projector

(B) Blackboard

(©) Epidiascope

(D) Slide projector

Which examination has no place - of
discrimination ?

(A) Validity

(B) Generality

(©) Reliability

(D) Objectivity

The stage in between childhood and ~

adulthood ?
(A) boyhood
(B) . infancy

(©) adolescence
(D) youth
Curiosity :

(A) Feel to know

(B) Feel to live

(C) Obey

(D) Whole knowledge

The aim of teaching is :

(A) to provide knowledge to students
(B) to encourage students for-learning
(©) to motivate students

(D) All of the above

Which method is raising interest in class
teaching ?

(A) Study of students

(B) Clarity of aims

(C) Measurement of interest

(D) All of the above

The aim of value education to inculcate in
students is :

(A) the moral values

(B) the social values

(C) the political values

(D) the economic values

Which one of the following is informal
institution ?

(A) Classroom

(B) Playground

(©) Library

(D) Seminar

109.

110.

111.

112.

113.

114.

115.

116.

71 % 3 AoiRs ve ¥ §aRg T8 R ?
(A)  3INES Wogexy

(B)  WMHUg

©¢ RIm

D) WES Moider

f&e T & verurd @1 B I T 2
(A) e

(B)  dU&dl

) favewsimar

(D)e  FEFTT

T IR YRR & 49 Bl e ?
(A) sPUq

(B) EEEIGE

(Cr (daRIEwEy

D) <&M

(A)e TFF B T

B) wH =T

©) =N

D)

fRreror @1 SERww B

(A)  BE @ S SUFET BT
(B)  faeni¥al ot veA &g AicRd Fen
() ¥l & IMIRT w=r

(D)« SPw

e e 5 9 e A A § R
B 2 ?

(A) ©BF @ 3T

(B)  Te¥ B WAl

(© 3 A

(D)s  SUYH Wi

Teu e @1 sevy el # wwer g9 2
(A)e HftS Ha &

(B) HHIG® 99 &
() uf® 99 &

(D) ¥F T @

= 4 29 13 e g 2 ?
(A) Tiem

(B)+ WA & HgH

©  THEe™

(D) UfER
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What kind of work is remedial teaching? 117. SUGRTcAS Reor &1 o &
(A) Instructional A)e 34—13-3”—@
(B) Negative (B) TS
(©) Imperative (B) ¥
(D) Theoretical © TQTHD
(D) wHEif<e
Who said ‘Man is perfect and education is 118. fods el qasq Tﬁ 'E.\' GU ﬁr&ﬂ LG H
the manifestation of the existing in man.” ? CELIG] Tﬁ;ﬂ @) afegfaa &1 ?
(A) Gandhi (A) e
(B) Frobel v
(©) Vivekananda (B)
(D)  John Dewey (€)» fiom=
(D) S el
Which one of the following is nota projected 119, o=y # dl9—97 U&0d SUH F8l & ?
e | (A)  HICHTH
(A) Photographs
(B) Flash card () el BT
(C)  Slides (©)  Xdigs
(D)  Puppet (D), TWE
When child fails, means : 120. o9 9= Bd gTaT % RIRCE] E.\'
(A) Child is not able to learn (A) I= qmg Ef% ﬁ."q 'q‘rrq q@[ é
(B) Child is not remember the answers Bﬂff
(©) There was a need of tuition (B)e 7= A RIREREERI
(D)  The system has failed (C) 9= Bl TGIA B rawgar off
(D) TERTHAE 2
- Rpggh ;’Ioﬁ)rk
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SEAL

6. | Each question has four alternative | 6. | Y@@ ¥¥ & folt R fdwew (A), (B), (C) T
responses marked as (A), (B), (C), (D). (D) fev v €| amudr 9 IR B GeE Mot
You should darken correct answer in BT el FRAT &
corresponding circle.

7. | Your response to the item is to be|7. | W% @& IW dqd OMR IR TG W &
indicated on the OMR answer sheet 3fpa ax €1
only.

8. | Answers marked in question booklet | 8. | UFH-gRa&Hl # sifdd S & qeaidEA T8
will not be evaluated. Rough work is to foa s | Fear w59 9Rad @ offoH 7o
be done at the end of this booklet. W |

9. | You have to return only the original | 9. | aiu@l Wien T &9 W & 3NMOTHORO BN
OMR sheet to the invigilator at the end T Wi 8 s weica 31 diem Aawd
of examination compulsorily. 21

10. | You are permitted to take away the | 10. | 3TU&] 755-0Ra® IR J0THOIRO & gaq
question booklet and second (carbon) (@raa) ofa & 9 B AR B
copy of OMR Sheet.

11. | Use of calculator, log table or any | 11. T % 5% @R @1 dagocx, aresd a
electronic equipment in examination T3 9 e SYB T YA afoid B
is prohibited.

12. | In case of any mismatch of questions, | 12. | &8 5 31 38a @I 39 A U @R Bl
the English version will be deemed to & # g, ik yE-gRaen fgandlg )
be correct, if the question booklet is |
bilingual. !

13. | For each question, darken only one| 13. | 7% ¥ 2 fo¢. T % W 333 U3 Ml
circle on the answer sheet. If you W T 21 IR I W@ | SWF T
darken more than one circle or darken a | T T @ e w9 [ e A el
circle partially, the answer will be fF, o 5 WaTe BT STATq T AT ST |
treated as incorrect

14. | Note that the answer once filled in ink | 14. | &7 & & 59 Haid &1 99@ U6 R Qe 9
cannot be changed. If you'do not wish R 37 T & <o @ o 9%d1| 3R
to attempt a question, leave the circle | 8 w@ &1 IW A IEq, 99 Ufd @
in the corresponding row blank. Such | 71 T S Bie < U9 uEEl A 9IS 39 A8
question will be awarded zero mark. femr S|

15. | There is no negative marking. 15. | Fifes mfew =8 2




